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Question 1.Select the related word/letters/numbers from the given alternatives:
e o faremenl & @ Hafeer eree/ sweRi/dear A 9T
Summer : Aestivation :: Winter : ?

e : deafAfmaar:: fa: 2
Options:

1) Cache

[ HUSR

2) Hibernation

St fsRarar

3) Survival

3cdlendst

4) Activation

afshaoT

Correct Answer: Hibernation

MafAfSraar

Candidate Answer: Hibernation

Mafafmaar

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 T fashol & O TefetreT Qse/37&RT/HEdT Y YiAT|

BFJ: NRV :: DHL:?

Options:

1) PTA

2) PTX

3) KQS

4) MQV
Correct Answer: PTX
Candidate Answer: PTX

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 7 ool & & Hafetra 2ree) 3Ri/dedr &1 giav|

5:30::7:7?

Options:

1) 54

2) 50

3) 49

4) 56
Correct Answer: 56
Candidate Answer: 56
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

Aeafaf@a veat & o arv faseut # & fava s v |
Options:

1) Throat

HUS

2) Eye

Klircy

3) Ear

e

4) Skin

AT/ TH

Correct Answer: Throat
HUS

Candidate Answer: Skin
A/ TH

Question 5.

For the following questions
Find the odd letters from the given alternatives.

rfaf@d vest # ow arv faesmedt & & faws 3R 1 gfaw |

Options:
1) ABBC

2) PQQR
3) WYYZ

4) KLLM
Correct Answer: WYYZ
Candidate Answer: WYYZ

Question 6.

For the following questions

Find the odd number from the given alternatives.

Tere=rfollera vt & few a1v faeredt & & fawer d&am &1 9w |

Options:
1) 16

2) 4
3)2

4) 36
Correct Answer: 2
Candidate Answer: 4

Question 7.Which word comes first in the dictionary?

FHleT T 2TeG IS 2CGHILT H Tgel HTATE ?
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Options:
1) Carrom

2) Cramming
3) Carrier

4) Cartoon
Correct Answer: Carrier
Candidate Answer: Carrier

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._

fArAfQf@d aeet 7 v 31efshat feaT &, TS vh v ofect §1 T a1¢ fachoddl 3 & 6t firehed AT St 3iogshat T O AR |

TQNKHEBYVSP2??
Options:
1) NKG

2) NKI
3) MIG

4) MJH
Correct Answer: MJG
Candidate Answer: MJG

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
el vest & veh 30T e 8, Toras wah ue ofed €1 74U a1v frehodt & & WEY fashed Y10 St 3igshdl 1 Q1 e |

9,21,45,93,2, 381
Options:
1) 189

2) 198
3) 188

4) 112
Correct Answer: 189
Candidate Answer: 189

Question 10.Pointing towards a girl, Rajan said, she is the daughter of my mother's daughter. Then how is the girl related to Rajan?

Tl & Teh SI5ehT B 3R SRIRT e g, " TG AU A T T 1 T & | TATST 3H ST T ToleT F AT HeleT & 2
Options:

1) Daughter

g‘:?r

2) Niece

EciciEc

3) Nephew

ST/ ATTT

4) Uncle

T/ T3/ AT N/ T
Correct Answer: Niece
a1chrahy/svsi

Candidate Answer: Niece
a1chrahy/sTsi

Question 11.M is brother of N. B is brother of N. M is brother of D. But N is not brother of D. How is N related to D?

M N &7 8T8 §, 3T B,N %7 318 ¥1 S8 TR M, D &7 87 &, Beq] N, D &7 371 T8t §1 N T D & Taey aelrge ?
Options:

1) Nephew

AT/ AT

2) Cousin

TR/ FRT) GO/ AT 3

3) Sister

Erol

4) Brother

oS

Correct Answer: Sister
ErRo

Candidate Answer: Sister
ErRe

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 3/28



9/26/2016 Staff Selection Commision

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

ATt e # & a8 Usc TTT S feT 1T fse; & 3R T TAWT Fh TgT AT ST Fehel -
COMMENTATOR

Options:

1) MART

2) COMMON

3) MOMENT

4) CONTRACT
Correct Answer: CONTRACT
Candidate Answer: CONTRACT

Question 13.If MOMENTUM is coded as EMOMNTUM , then MAGNETIC will be coded as?

I MOMENTUM &I f8Y &1 & EMOMNTUM for@r ST &, aY sarsT & MAGNETIC &t 33 &is & 7 forgr sieem & ?

Options:
1) NGMAEITC

2) NGAMECTI
3) NGAMETIC

4) NGMAETIC
Correct Answer: NGAMETIC
Candidate Answer: NGAMETIC

Question 14.If 'L' stands for '+', 'M' stands for '-' , N stands for 'x' , P stands for '+' then
i L T A '+' &, M AT AT ' - ' §AATN H Aol X' 8, IRPH Aol ' + ' §,
14N10L42P2M8="7?

Options:

1) 153

2) 216

3) 248

4) 251
Correct Answer: 153
Candidate Answer: [ NOT ANSWERED ]

Question 15.If 13*¥45 = 29 ,

24¥58 = 41,

74*32 =53,

what should 97*47 be?
gfe 13 * 45 = 29,

24 * 58 = 41,

74 %32 =538,

ar 97 * 47 T AT FIT g1 ?
Options:

1) 73

2) 72

3)63

4)64

Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]
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Question 16.Find the missing numbers from the given alternatives

fw oe fawedt # & e dear g ?

2 4

1 2 4
1
2

3
36

Options:
1) 73

01

2) 68
3) 101

4) 55
Correct Answer: 73
Candidate Answer: [ NOT ANSWERED ]

Question 17.1If South-East is changed to North and North-East to West and so on, then what will come in place of South?

I AT - 9 # 3k 7 aRafela o o S, 3R Sea-gd @t afReas 7 3R 58 veR e 3iR 8 R ST A g fEieT & wate oY SR e ?
Options:

1) South-West

gfaqor - af¥as

2) North-East

3ol - qd

3) South-East

afEor - o

4) North-West

3ceX - IiRaH

Correct Answer: North-East
e’ - @

Candidate Answer: North-West
3ca - IiRaH

Question 18.0ne or two statements are given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be
at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement. Indicate
your answer.

Statements: 1. All mangoes are golden in colour. 2. No golden coloured things are cheap.

Conclusions: I. All mangoes are cheap. II. Golden-coloured mangoes are not cheap.

AFTRfRdT Wt 7 Ueh garded feam 71T § forash 31T &) s/ Agay, 1 31T 11 fAerer ardr &1 31m9en! faaR &kl & & aoFded §cd §, a8 98 IAgd: AT azai &
et gelia giar gl 3yt fol e § 1o Ru a1 aorden & O ia-ar AfRaa o0 3 @) fsens/Aeaar el ST TehdT §1 3M9e 3car & [afése Aifs)
FU : 1. T T &7 7 ool 1 2. FeTo 1 A 1S o e Tl AT B

forsmd ;1. Wl 3 T §1 2. FeeX T o 3wy A

Options:

1) Only conclusion I follows

Farel forsand [ @8I

2) Only conclusion II follows

gl fseny 11 T8 &

3) Either conclusion I or conclusion II follows

1Y forseny [ a7 fseny 11 T8r &

4) Both conclusions I and II follow

et forsed wer &

Correct Answer: Only conclusion II follows

Fad TSRy [1 T e

Candidate Answer: Only conclusion II follows

Fad SRy [I T g
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Question 19.How many triangles are there in the given figure?

& ar$ iy 31 freey PegeT €2

Options:
1) 14

2)15
3) 16

4) 18
Correct Answer: 16
Candidate Answer: 16

Question 20.In the given figure, triangle represents the healthy, square represents the old, and circle represents the men. Find out the area of the figure which
represents the "men who are healthy but not old".

ARy & 978 3Ty 3F Prepior oy cafFadt @1 axffar §, 90 g5 cafFadt # a=fidT 8, 3R ged IESt 1 &RfT §1 39 3T F7 avAwe A HfAT S W gET Hr gfiar § St
T A g g g g g "?

Options:
1)1

2)2
3)3

4)7
Correct Answer: 2
Candidate Answer: 1

Question 21.Which answer figure will complete the pattern in the question figure?

et A Sk ITeRTcT TeaT 3MTepict & TTed bl U H?

| N
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Options:
1)
2)
R
3)
4)

o

Correct Answer:

T@

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 718 SeaT ATHTAT H {37 Ieal el H AT Forae weet I AR & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 7128



9/26/2016 Staff Selection Commision

Options:
1)

2

2)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I &t o, AN weaT Tt F QR o 3R Al Fier ST o Eiew 9% 76 B3 Sed¥ i Star fewms gam 2
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Options:
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

IfE T GIOT T MN @7 9% T@T IR a7 & 978 Sec< FHHrar 7§ FeT A 3pher Teaf 3mapfar ot Ty wfafass g ?

[E:

Options:
1)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 10/28
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Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., A can be represented by 02,14, etc.,
and 'P' can be represented by 56, 68, etc. Similarly you have to identify the set for the word 'BEAT'

T UG ol Teh HEAT-TIg SaNT SR 1T &, S for et 31 & forelt wap o7 feraam aram ) Ryt 3 R 970 e wogp 3/ & ar &t gamT aife a7e &, SR & 7 R
1T &Y eyt H &1 3TegE 1 FioT 3R dercll oy Hear 0 F 4 3R 3meyp 11 H 5 0 9 & 918 &1 7 HTeggl U Ueh &N 1 Ugel 3T Gl 3R 18 H Feia97 T gary aefrar
ST HRT & | SETETT & T A’ &1 02, 14 31T EaRT GfTAT ST Hehll & T 'P ' Y 56, 68 311 SR &R ST HehelT & | A & & IR T g 2o 'BEAT' & foIw g bl
T B

MATRIX | MATRIX Il
0 12 3 4 56 7 8 9
0B HAR|T |5/ s P EA K
1 |R|T|B|/H|A||6|A| K|S|P|E
2 HIA/R|T|B||7 PlE|A|K]|S
3/T/B/H|/A[R]||8| K|S|P|E |A
4|AR|/T/B|H||9|E|lA|K|S|P
Options:

1)40,88,65,30
2)00,76,33,23
3)31,88,34,23

4)24,57,58,41
Correct Answer: 00, 76, 33, 23
Candidate Answer: [ NOT ANSWERED ]

Question 26.The innovation theory of profit was proposed by

ST T Aavad=T gl o= gfaarfed fmar ar ?
Options:

1) Marshall

Ao

2) Clark

Folleh

3) Schumpeter

LAY

4) Joan Robbinson

e AT

Correct Answer: Schumpeter
LA

Candidate Answer: Marshall

eI

Question 27.The most abundant element in the earth's atmosphere is

Tt & ATATROT 7 G ST I S el ed Fiet-3r 87

Options:
1) Argon
3wt

2) Nitrogen
ATSEISTeT
3) Oxygen
KEEn)
4) Krypton
[Eac

Correct Answer: Nitrogen
CIEEC

Candidate Answer: Nitrogen

AT

Question 28.Who was the first Indian to be elected as a Member of the British House of Commons?

TE TUH ARAT Tt & S e 8138 3T FiAed & Foeg ot 70 ?
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Options:
1) Jayaprakash Narayan
ST YTl ARTI0T
2) Dada Bhai Naoroji
SIS ARYSHY
3) Ram Manohar Lohia
TH FAAGR efgar
4) Sarojini Naidu
TS g
Correct Answer: Dada Bhai Naoroji
STeTeTTS ARSI
Candidate Answer: Dada Bhai Naoroji

STeTeTTS ARSI

Question 29.Mohammed Bin Tuglaq transferred his capital from

HigeHe, ool ITolh a1 3T TSTEIA el & el seen o ?
Options:

1) Delhi to Warangal

el & aRpETer

2) Delhi to Devagiri

e & Gafery

3) Delhi to Madurai

el & FGY

4) Delhi to Vijayanagar

el & fAsrTemR

Correct Answer: Delhi to Devagiri
e & qafrdy

Candidate Answer: [ NOT ANSWERED ]

Question 30.During the reign of which dynasty was the Great Wall of China constructed?

fhg Toae & ammﬁ%ﬂa@rﬁtaﬁwﬁnﬁwg&n qr ?
Options:

1) Sung

o

2) Tang

£

3) Han

Correct Answer: Chin

£

Candidate Answer: Chin

el

Question 31.Winds blowing constantly in one direction in rocky deserts form

TR YA & T e & SRIAR Tefel daTell 410 FIT 9=l & ?
Options:

1) Chimneys

Tow=iT

2) Mushrooms rocks

HRUEH TeTeT

3) Yardangs

IRETT

4) Demoiselles

T

Correct Answer: Yardangs

IRET

Candidate Answer: Mushrooms rocks
FRRH TETeT

Question 32.Sphygmomanometer measures the blood pressure in the

TEIAERAHR foT v fFweut 7 & forod g g HI AATE ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 12/28
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Options:
1) Veins
RT3t
2) Arteries
BEiEn
3) Eyes
3m@Er
4) Synovial
LITH
Correct Answer: Arteries

Beicoy

Candidate Answer: Synovial
TR

Question 33.The reverse effect of X-ray emission is

X-forot & SeaoreT & Tfcieer yema Fr § ?
Options:

1) Raman effect

{HoT TG

2) Compton effect

HIFTCT T

3) Zeeman effect

ST gHT

4) Photo-electric effect

RIS T T

Correct Answer: Photo-electric effect
RIS T T8

Candidate Answer: Photo-electric effect
FRTR-IECT T

Question 34.WIMAX stands for

WIMAX T 3T 3R & ?

Options:

1) Wireless Interoperability for Microwave Access
2) Wired Interoperability for Microwave Access

3) Worldwide Interoperability for Microwave Access

4) Worldwide Infrastructure for Microwave Access
Correct Answer: Worldwide Interoperability for Microwave Access
Candidate Answer: Wireless Interoperability for Microwave Access

Question 35.India is developing Chabahar Port in which of the following countries?

IR et 7 O 5T =1 & IEER Fec9g ST @I E ?
Options:

1) Iraq

Enica

2) Oman

3NAA

3) Iran

KA
4) Afghanistan
SRt

Correct Answer: Iran
0T

Candidate Answer: Iraq

S

Question 36.Dipa Karmakar is the first Indian woman to have qualified for Rio Olympic Games in which sport?

AT 3freiferT & a1 FAR o7 HRT 6T 3R I g TeT 7 ugell IR #1197 foram?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 13/28
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Options:
1) Archery
dReeT
2) Boxing
it
3) Badminton
SsfAeeT
4) Gymnastics
SOt

Correct Answer: Gymnastics

IS EaiR=Cas]

Candidate Answer: Gymnastics

IS EaCiR=Cas]

Question 37.What is the name of the deadly volcano in Indonesia that erupted again in May 2016?

SUSIATRIAT % 38 FaeRERN Sarcegd! T FaT A1 § o 7 75 2016 ﬁﬁw#ﬁﬁtgﬁ?
Options:

1) Mount Singabung

a3e fanger

2) Mount Merapi

HI3C FRIEY

3) Mount Rinjani

A3e Ra=it

4) Mount Agung

HI3T TIET

Correct Answer: Mount Singabung
A3e fHanger

Candidate Answer: Mount Singabung
LIEASDIECHE

Question 38.The world's largest and deepest rail tunnel Gotthard Base Tunnel is located in which country?

Foreq o T T 3R TR TR X T AT S G oy Sy A PR 2
Options:

1) Belgium

sfesradm

2) Austria

3t

3) Switzerland

Raeaels

4) Sweden

st

Correct Answer: Switzerland

RaesRols

Candidate Answer: Switzerland

RacoRels

Question 39.SIDO is related to the development of

SIDO & HeieT foheh o T § ?
Options:

1) Small industries

o ST

2) Steel Industry

SEAT 363NT

3) Soap Industry

et ST

4) Sugar Industry

ArefT e

Correct Answer: Small industries
T SegT

Candidate Answer: Small industries

oY e
Question 40.The Wheeler Island has been renamed as

SEIeR &dT T 13T AATH FAT § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 14/28
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Options:
1) Vikram Sarabhai island
Tashe TR g
2) Satish Dhawan island
efrer eraet ediT
3) Abdul Kalam island
3TeEel el EdIa
4) C.V. Raman island
AT g

Correct Answer: Abdul Kalam island
3TeEel el EdIa
Candidate Answer: Vikram Sarabhai island

[EETEINE CXCCI)

Question 41.Which is the biggest building at Mohenjodaro?

AigeTolice! 7 Fad 98 SART HiT-ar g ?
Options:

1) Great Bath

I T

2) Great Granary

I I8

3) Assembly Hall

THeel gler

4) Rectangular Building

3TTATPR HdeT

Correct Answer: Great Granary

I Il

Candidate Answer: Rectangular Building
TAATPR HaT

Question 42.0ne of the common forms of representing remote sensing data as information is in the form of

AT & T H GT-HA 31T GRMTeT 1 U HAT Bied e FT H § ?
Options:

1) Thematic Maps

e AR

2) Political maps

S oG CIGES

3) Distribution maps

TIaRoT AT

4) Land use maps

-39 AR

Correct Answer: Thematic Maps
v AT

Candidate Answer: Thematic Maps
v AT

Question 43.Bhakra Nangal Project is constructed across which river?

HIGST ATl TRATSAT PlA-T AN AL E ?
Options:

1) Ganga

Eic)

2) Sutlej

RS

3) Cauvery

AT

4) Brahmaputra

SEAYAT

S
Correct Answer: Sutlej
Hclelst

R}
Candidate Answer: Sutlej
Gdolst

2
Question 44.The group of solar cells joined together in a definite pattern is called a

AN el & o Tgg 1 Ueh ATRa deet 3 van A Sits T ST § 38 Far Fgd § 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 15/28
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Options:

1) Battery

el

2) Solar Heater

gk ame

3) Solar cooker

Al g

4) Solar cell panel

R det eTer

Correct Answer: Solar cell panel
R det deTer

Candidate Answer: Solar Heater
ik ame

Question 45.Chemical composition of cement is

A T IS TSI 2T § ?
Options:

1) Limestone and Clay

T T 3R TR

2) Limestone, Clay and Gypsum
AT gey, T 3N forewsr

3) Limestone and Gypsum

AT Te2R 3R Foews

4) Clay and Gypsum

gy 3ik foeas

Correct Answer: Limestone, Clay and Gypsum
AT e, T 3R forees
Candidate Answer: Limestone and Clay

I IR 3R A

Question 46.A stretch of sea water, partly or fully separated by a narrow strip from the main sea is called

Staff Selection Commision

FET TG A 0T TEY ST 31T §F & A1 G G T T 10 FHEr STt o Faed R it T et § 2

Options:

1) Bay

g

2) Isthmus

el TR

3) Lagoon

SRS

4) Strait

STeISHEAET

Correct Answer: Lagoon

Eoc

Candidate Answer: Isthmus

ST GAISTHh
Question 47.The sigmoid colon is a part of

TRTAITS et g T § ?
Options:

1) Small Intestine

o 3T

2) Large Intestine

R

3) Pharynx

AT

4) Rectum

HART

Correct Answer: Large Intestine
3 3

Candidate Answer: Rectum
HARRT

Question 48.Beginning from the Financial Year 2017-18 NITI Ayog plans to replace the 5 year plans with which of the following

AT 3T o el a¥ 2017-18 T Y3 & 5 a9 & A1 T oA & § Roherd Seofet T Folell 5175 § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87
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Options:

1) 5 year Vision Document
5 a1t farstet stgdtee

2) 10 year Vision Document
10 @ T slargdiee

3) 15 year Vision Document
15 1t faetet Stargdiee

4) 20 year Vision Document

20 Tt fastet strgdtee

Correct Answer: 15 year Vision Document
15 @1 et slargaiee

Candidate Answer: 10 year Vision Document
10 1t faotet Stargdiee

Question 49.The connective tissue that connects a muscle to a bone is

ATT-TL T g5 A ST qTet Fecdeh T FAT FEd & ?
Options:

1) Cartilage

SUTRR/RAd T

2) Ligament

ElCiE e

3) Tendon

éd‘gﬂ

4) Interstitial fluid

Seauerel T

Correct Answer: Tendon
aﬂ'gﬁ

Candidate Answer: Cartilage

ST/

Question 50.Indian Citizenship is granted by

SR ARG f3reeh eaRT & ST & ?
Options:

1) The President of India

HR & Iegufcl garT

2) The Prime Minister

eI HeAl GaRT

3) The Ministry of Home Affairs

3§ HATOIT @RI

4) The Ministry of External Affairs

Toe=r FATET g@rT

Correct Answer: The Ministry of Home Affairs
B EICRICEINY

Candidate Answer: The Ministry of Home Affairs
3§ HATIT @RI

Question 51.0ne tap can fill a water tank in 50 mins and another tap can make the filled tank empty in 75 mins. If both the taps are open together, already half filled
tank would be full in

T aTel Tehall 1eil o & 1 50 f¥eTe 3 R Fehell & 31 G@T =1e 8% gU & 1 75 TeTe 31 WIeH & Hehell | e &letl w77 Ueh A1y Ter ferw ST Y 1/2 #7197 #R7 g3 &b
el qHT & QU Y Srwar ?
Options:

1) 60 min

60 e

2) 75 min

75 fAeTe

3) 125 min

125 fRete

4) 150 min

150 fAeTe

Correct Answer: 75 min

75 fete
Candidate Answer: [ NOT ANSWERED ]

Question 52.Three solid spheres have their radii ry, r; and r3. The spheres are melted to form a solid sphere of bigger radius. Then the radius of the new sphere is

T 3T et T ST AR 1y, rp 3R r3 §| 37 Il BT TET AT T U B el 1) o T Il SATAT &1 $H AT Vet S B2 &= gefi?
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Options:
1)

(rit+rat73)

2)

¥
(ri¥+rf+rd)=

3)

{rd+ri+r39%

4)
1
(rit 49T

Correct Answer:
(rid+ri+r8)k

Candidate Answer:

1
(rit o+ rH)s

Question 53.The shopkeepers announce the same price of Rs. 700 for a sewing machine. The first offers successive discounts of 30% and 6% while the second
offers successive discounts of 20% and 16%. The difference in their selling price is

2 gFeTeR Tiels FlieT T Ueh FHIA HIHARS. 700 TNAT F & | Tgell ghIeTar 30% T 6% H & A ge AT & STafh gFrr 20% 3R 16 % HI HiAF ge aar ¥ 39

TS 7o A ettt iR & ?
Options:
1) Rs. 9.8

2) Rs. 16.8
3) Rs. 22.4

4) Rs. 36.4
Correct Answer: Rs. 9.8
Candidate Answer: [ NOT ANSWERED ]

Question 54.The amount of extension in a spring is proportional to the weight hung on it. If the weight of 5 kgs produces an extension of 0.4 cm, what weight would

produce an extension of 5cm?

T FHE H AEAR A A 36 9 ofedh Sic F Hqurd F §1 3T 5 fR.am. 7 dic FAR 7 0.4 AAL 1 R #ar § ar 5 Ao, 1 Rear #a & O frae g #aie

;MigA?

Options:

1) 6.25kgs

6.25 for.am.

2) 62.5kgs

62.5 fh.am.

3) 4kgs

4 TR

4) 40kgs

40 f.am.

Correct Answer: 62.5kgs
62.5 fh.am.

Candidate Answer: 40kgs
40 .3,

Question 55.12 copies of a book were sold for Rs. 1800 thereby gaining cost price of 3 copies. The cost price of a copy of the book is

ol qeteh T 12 9ferat iRs. 1800 F0 # STt & 3 TfTaT o @1 e o SRS @M §HT | Eeih B Ueh el 1 elTed ey fobetetr & ?

Options:
1) Rs. 120

2) Rs. 150
3) Rs. 1200

4) Rs. 1500
Correct Answer: Rs. 120
Candidate Answer: Rs. 150
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Question 56.In a marriage party 32% are women, 54% are men and there are 196 children. How many men are there in the marriage party?

T faTs ARG 7 32% AR §, 54% 989 § 3R 196 7= £ 39 faaTe §ARIe & 77 e § 2
Options:

1) 756

2) 448

3) 332

4) 324
Correct Answer: 756
Candidate Answer: [ NOT ANSWERED ]

Question 57.A train is running at a speed of 116 kms/hr. The distance covered by the train in meters in 18 secs is

T ST 116 fR0F0/Eier it a1fet & et W 1 18 WHhus 7 &of @ fovctel Fiex & gt a7 iy swaht ?
Options:

1) 900m

900 #Hrex

2) 1160m

1160 #Hex

3) 508m

508 #Hrex

4) 580m

580 #Hrex

Correct Answer: 580m
580 #Hrex

Candidate Answer: 508m
508 #Hrex

Question 58.If a+b = 5, then the value of (a-3)” + (b-2)7 is

gfda+b=58rdr(a-3) + (b-2) & HeT FT R ?
Options:
1) 27

2)37
3)1

4)0
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 59.
2 1
Ifx= —2x + 1 = (0, then the value ofx"'+; is

ARG a2 — 20 +1 = 0, & 2+ LT He 7T 87

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 60.The length of a median of an equilateral triangle is 12v3 cms. Then the area of the triangle is

Tk AT T3St & ATegeh B oidg 12v3 A, 8, oY et 7 iather fohelenr & ?
Options:

1) 144 sq. cms

144 d.90.2

2) 288v3 sq. cms

288v3 3.2

3) 144v3 sq. cms

144v3 Q.72

4) 288sq.cms

288 A.#.2
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Correct Answer: 1443 sq. cms
144v3 q.3.2

Candidate Answer: 144v/3 sq. cms
144v3 q.7.2

Question 61.

0 is the circumcentre of a triangle AABC.
The point A and the chord BC are on the
opposite side of Q. If £ZBOC=150". Then the
angle #BAC s

owe By ascaH aids &1 fig A 3l
SieT B féig o @ faada e o &1 afg
£BOC=150", AT £BAC fera=ir 2o &1 &7

Options:
1) 65°

2) 60°
3) 70°

4) 75°
Correct Answer: 75°
Candidate Answer: 60°

Question 62.

oI5

In an acute — angled triangle ABC if Sin(B+C—A) =
tan(C + A — B)=1, thenCis equal to

and

et vt @il Feger ABCH, i
sin(B + € — 4) =%§3ﬂw tan(C + 4 —
B) = 1,dr C e SET grele?

Options:
1) 37.5°

2) 67.5°
3) 52.5°

4) 72.5°
Correct Answer: 52.5°
Candidate Answer: [ NOT ANSWERED ]

Question 63.How many numbers divisible by 125 can be written by using all the digits 2,3,8,7,5 exactly once?

et 37T 2, 3, 8, 7, 5 T Shdel Teh IR 3YAIT Xk 125 T NS 8o arell fhd=iT Ty fordy 5T Tehell & ?

Options:
1) 4

2)5
3)6

4)7
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average salary of all workers in a workshop is Rs.12000. The average salary of 7 technicians is Rs.15000 and the average salary of the rest is
Rs.9000. The total number of workers in the workshop is

T HRETA H Tl et 1 AT IcwiRs, 12000 §1 7 dhelfAIgeAt &7 e acft Rs. 15000 &1 3R A9 F3iaet IcaiRs. 9000 §| FREW & HafarRat Hr For dear
s g ?
Options:
1) 12
2) 13
3) 14
4)15
Correct Answer: 14
http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=8&appid=1a4fff78943b24af40c79deccf09bb87 20/28
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Candidate Answer: [ NOT ANSWERED ]

Question 65.The angles of elevation of an aeroplane flying vertically above the ground, as observed from the two consecutive stones, 1 km apart; are 45° and 60°.

The height of the aeroplane from the ground is

ST & FIX ITATER 35 T FAAT 7 Seerret 0T 319 F 1 BRLA i gl R R o A Teert 3 e a¥ 450 3R 600 §1 ST & e o Sang R d 2

Options:
1)

(V3 +1)ims

(V3+1) &AL

2)
(3 +3)kms

(v3+3) &AL
3)

%(\@+ 1)kms

>(V3+1) et
4)

1
3 (‘J'-3.+ 3:}kms

S (V33 f 3l
Correct Answer:

1
E (‘Jr-3.+ 3:}kms

5 (V33 Rl

Candidate Answer: [ NOT ANSWERED ]

Question 66.The maximum value of 5+20x-4x2, when x is a real number is

5 + 20x - 4x2 &l HTRhal® HieT 519 'X' AR i ST (R37el 7o) 81, ol FaT gIem?

Options:
1)1

2)5
3)25

4) 30
Correct Answer: 30
Candidate Answer: 1

Question 67.

If3a=4b=6c and a+b+c=27+20 then vaZ + b2 + c? is equalto

T 3a=4b=6c 3R a+th+c=27V29 T
Va?+ b2+ c2 W AT 4T 57

Options:
1) 87

2) 3v29
3) 82

4) 83
Correct Answer: 87
Candidate Answer: [ NOT ANSWERED ]
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Question 68.If an interior of a regular polygon is 170°, then the number of sides of the polygon is
T Forelt TSI STt 1 3icT 10T 1700 & Y SgegSt 1 s{omaft 1 T forerat § 2

Options:
1) 36

2)20
3)18

4) 27
Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

Question 69.
If PA and PB are tangents to the circle

with centre O such that ZAPB=50",
Then £0AB=

afg pa 3R PB &5 0 arel ged #r
Toer @ 57 UK ¢
£APB=50"dl £0AB=7

Options:
1) 25°

2) 30°
3) 40°

4) 50°
Correct Answer: 25°
Candidate Answer: [ NOT ANSWERED ]

Question 70.Starting with 8000 workers, the company increases the number of workers by 5%, 10% and 20% at the end of first, second and third year respectively.
The number of workers in the fourth yearwas

8000 FTHATRT o HIL FH1 YT et dTell ddfatt 3 Tgol , gAY R AT aF & 3T 3 FHART H HEAT FHA: 5%, 10% 3R 20% a1 & Sl §1 <N af # o’ i wear
forcetT o ?

Options:
1) 10188

2) 11088
3) 11008

4) 11808
Correct Answer: 11088
Candidate Answer: 11088

Question 71.If SinX-CosX=1, where 'X" is an acute angle, the value of SinX+CosX is

T SinX-CosX=1 8T TgT X Teh =T 0T &, AT SinX-+CosX T HIeT 3T G141 ?

Options:
1)0

2)1
3)1,

4)2
Correct Answer: 1
Candidate Answer: 0
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Question 72.Study the following bar graph carefully and answer the questions

AR IR I & e & 9 3R et & 3car Qe

HStae U Central L.

16
A 14
=

& 12
5

2 10
= @
i

g 6
= F
=
s 2
B

1980 1540 2000
YEARS

In 1990, how many more students were enrolled at State University than at Central University?

a¥ 1990 # g faeafaerera i Jer 7 U Avafaedrery # fhde ezl sy Amifehdagu a2
Options:

1) 1505 students

1505 faezmif

2) 1650 students

1650 Tzt

3) 2000 students

2000 faezreft

4) 1980 students

1980 ezt

Correct Answer: 2000 students
2000 faezmeft

Candidate Answer: 2000 students
2000 faeamf

Question 73.Study the following bar graph carefully and answer the questions

Arfaf@d R I At e & IR AR ueaAT & 3caR QS|

mStae U Central W,

i

II J

I =T
1980

1520 2000

a bl
= o

= o 0 &

EMROLLMEMTITHOUSANDS)

[ )

YEARS
Total enrolments in both State University and Central University during the year 1980, 1990 and 2000 is

a¥ 1980, 1990 31X 2000 & T 3R e, FAeaterery St & Fel el AHRA Fd 1 & ?

Options:
1) 80000

2) 66000
3) 70000

4) 76000
Correct Answer: 70000
Candidate Answer: 70000
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Question 74.Study the following bar graph carefully and answer the questions

AR IR 76 & e & 9 3R geat & 3car Qe

HStEe U Central U.

16
A 14
=
& 12
3
2 10
= @
=
E &
= 4
= 2
B

1980 1990 2000
YEARS

Ratio of the total enrolments in the year 1980 and 2000 at the State University and Central University is

a¥ 1980 31 2000 #¥ I faeafaezmer 3R S favafaezrerd & gu Set AR HT HeIdT TS

Options:
1) 4:5

2) 2:3
3) 6:5

4)5:6
Correct Answer: 5:6
Candidate Answer: 2:3

Question 75.Study the following bar graph carefully and answer the questions

AT SR ITh & &g & I 3R 991 & 3cak QTS|

HStae U Central U,

16
A 14
=
= 12
=3
o 10 —
= 8 it
Z_ E
z° '
o 4 :
z 2 ol
a0 !

1980 1920 2000
YEARS

The tuition fee at State University in the year 2000 was Rs.6500/- per enrolment. What was the total revenue collected from the tuition fee at State University during
that year?

Tsafaeatdemrery 7 a¥ 2000 # g B Rs.65009T AT M| 38 a¥ T Fyeafacgrers # cgaret Yo A Fol fhctall UaT e ey 77277 ?

Options:
1) Rs.80,000,000

2) Rs.78,000,000
3) Rs.65,000,000

4) Rs.56,000,000
Correct Answer: Rs.78,000,000
Candidate Answer: Rs.78,000,000

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

OMINOUS
Options:

1) OFFICIOUS

2) PLEASANT

3) CONVENIENT
4) THREATENING

Correct Answer: THREATENING
Candidate Answer: CONVENIENT

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

OBSTINATE
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Options:

1) DOCILE

2) AGGRAVATE

3) OFFENSIVE

4) OPPRESSIVE

Correct Answer: DOCILE

Candidate Answer: AGGRAVATE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Benevolens

2) Benevolene

3) Benevolence

4) Benevelence

Correct Answer: Benevolence

Candidate Answer: Benevolence

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

All works of (A) / creative writing (B) / have aesthetics appeal (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I and my wife (A) / were declared (B) / the best couple at the party (C) / No error (D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The author said during the press conference (A) / that there were (B) / two farther volumes to be published (C) / No error (D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

A partial victory is sometimes all we can hope to
Options:

1) gain

2) lose

3) suffer

4) reward

Correct Answer: gain
Candidate Answer: reward

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My father has been advised to his smoking.
Options:

1) cut down

2) cut off

3) cut into

4) cutin

Correct Answer: cut down

Candidate Answer: cut off
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Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I had not expected to meet him; it was quite an meeting.
Options:

1) organised

2) unique

3) accidental

4) intentional

Correct Answer: accidental
Candidate Answer: accidental

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A dark horse
Options:

1) A wild animal

2) A black horse

3) An unknown entry
4) A front runner

Correct Answer: An unknown entry
Candidate Answer: A wild animal

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Throw cold water
Options:

1) Encourage

2) Discourage

3) Attack

4) Drench

Correct Answer: Discourage
Candidate Answer: Drench

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Butt in

Options:

1) Record

2) Impose

3) Improvise

4) Interrupt

Correct Answer: Interrupt

Candidate Answer: Improvise

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A narrow stretch of land connecting two large bodies of land.
Options:

1) Lagoon

2) Cape

3) Strait

4) Isthumus

Correct Answer: Isthumus
Candidate Answer: Isthumus

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An animal which lives by preying on other animals
Options:

1) Aggressor

2) Attacker

3) Terminator

4) Predator

Correct Answer: Predator

Candidate Answer: Attacker

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Government or rule by a small group of people
Options:

1) Monarchy

2) Oligarchy

3) Autocracy

4) Autonomy

Correct Answer: Oligarchy
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Candidate Answer: Autonomy

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Salman and the other actors drove through the forest.
Options:

1)in

2) over

3) among

4) No improvement

Correct Answer: No improvement

Candidate Answer: in

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You will not succeed unless you don't work hard
Options:

1) will not work hard

2) should work hard

3) work hard

4) No improvement

Correct Answer: work hard

Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My friend has a toothache and cannot eat something.
Options:

1) anything

2) things

3) edibles

4) No improvement

Correct Answer: anything

Candidate Answer: anything

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Africa is in the South of Europe
Options:

1) by the

2) to the

3) over the

4) No improvement

Correct Answer: to the

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Either Lata or Mala have done it.
Options:

1) Neither Lata or Mala has done it
2) Either Lata or Mala has done it
3) Neither Lata or Mala have done it
4) No improvement

Correct Answer: Either Lata or Mala has done it
Candidate Answer: Neither Lata or Mala has done it

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

Alexander trekked miles every day to attend Darvel school.
Options:

1) four

2) eight

3) twelve

4) sixteen

Correct Answer: eight
Candidate Answer: four
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